EnTiese 21 Non-rotative Suspensions

SRR E PEAR R AL . Body and rod in anodized aluminum. B2
BEEREENIIETIEET. Non-rotative rod with high load capability. ) 2
ESERE : -1~ 8bar, . Pressure range: -1 ~ 8 bar. M
e
®4
g
H

H # Z
Zes
o 1% 2
F E {7188 D éﬂ§

N | T

= (

N = b
w > Re
e
o
8BE5(PN) HIE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) E

8.Y00064 VFN1011-M5 M5 M5 210 10 22 17 8 60 11 79
8.Y00321 VFN1021-M5 M5 M5 210 10 41 17 8 89 21 119 %0
8.Y00065 VFN1421-G18 G1/8 G1/8 214 12 40 20 12 93 21 249 E%
8.Y00322 VFN1436-G18 G1/8 G1/8 14 12 60 20 12 128 36 449 iﬂ§
8.Y00066 VFNZ2026-G18 G1/8 G1/8 @20 15 50 21 16 112 26 549 ﬁ:%
8.Y00067 VFN2051-G18 G1/8 G1/8 @20 15 84 21 16 171 51 80g

H >
> > g
BID

O 17%8S D
% =i
Y { I - g = N gﬂié
N AN » g
w . =
555 (PN) #E(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) Mﬁﬁ
8.Y00068 VFNT1011-M5 M5 M5 M10*1 10 22 17 8 60 11 12g L
8.Y00323 VFNT1021-M5 M5 M5 M10*1 10 41 17 8 89 21 39¢g 5
8.Y00204 VFNT1421-G18 G1/8 G1/8 M14*1 12 40 20 12 93 21 51g g
8.Y00324 VFNT1436-G18 G1/8 G1/8 M14*1 12 60 20 12 128 36 729 K
8.Y00205 VFNT2026-G18 G1/8 G1/8 M20*1 15 50 21 16 112 26 82¢g §
8.Y00206 VFNT2051-G18 G1/8 G1/8 M20*1 15 84 21 16 171 51 120g @

c26



